Set 2

Unique Paper Code : 12037501

Name of the Course : B.A. (Honors) English

Name of the Paper : Modern Indian Writings in English Translation (DSE)

Semester 'V

Maximum Marks 175

Duration : 3+1 hours (one hour is reserved for downloading of question paper,

scanning and uploading of answer sheets)

Attempt any THREE out of the following SIX questions.
Each answer should be between 750 to 1000 words.
All questions carry equal marks (25 Marks x 3 = 75).

1. “Tagore’s philosophical and spiritual thoughts transcend all limits of language, culture
and nationality.” Discuss with reference to the poems you have read from Gitanjali.

2. In ‘The Shroud’, Premchand invites us to reconsider the ideas of ‘fruitful’ labor and
‘universal” work ethics in a caste-ridden society.

3. Write an essay on the plight of Yuyutsu, reflecting on the idea of truth and dharma in the
world of Andha Yug.

4. How does Amrita Pritam present a counter narrative to the existing predominant
historical narrative of Partition in her poem?

5. In Untouchable Spring, the feelings of homelessness and exile are a recurring motif in
every generation as ‘rebels’ escape to survive the onslaught of oppression. Discuss this
statement citing suitable examples from the text.



6. The short story in Indian languages has been a place for thematic and stylistic
experiments that enable its writers to comment fluently on contemporary economic and
socio-political issues. Do you agree? Discuss with reference to at least two short stories
from your course.



Unique Paper Code : 22417510

Name of the Paper : Advertising

Name of the Course : B.Com Hons.

Semester 'V
Paper No : 5.4 DSE Group
Duration: 3 hours Maximum Marks: 75

Attempt any four questions. All questions carry equal marks.

Q1 “Senders must be aware of the receivers or audience they want to reach and the responses
they want”. In the light of the above statement explain the various elements of the

communication process? Also explain the various hurdles to communication.

Q2 “In our factories, we produce cosmetics, but in our drug stores we sell hope.”- Charles
Reuson from Revlon. In the light of the above statement explain how advertising is a

powerful tool of promotion?

Q3 What are the essentials for an effective advertising copy for print media? Also explain
how does effective visual, slogan, logo, colour and proper illustration help in capturing the

attention of the target audience?

Q4 “Radio as a broadcast media is reinventing itself as Internet Radio and FM radio”. By

giving suitable examples mention the merits and demerits of radio advertising?



Q5 What are advertising agencies? Discuss the various types of advertising agencies? How
can agency and client relationship remain cordial? Also mention any two large advertising
agencies in India?

Q6 “Legal rules, code of conduct and ethics are three pillars of healthy advertising
environment”. Comment mentioning the laws available to protect Indian consumers against

misleading advertisements.



Sr. No. of Question Paper:

Unique Paper Code
Name of the Course
Name of the Paper
Semester

Duration: 3 Hours

SET B

: 12277506
: B. A. (H) Economics

: International Economics

Y

Attempt any four questions in all.

All questions carry equal marks.

Maximum Marks: 75

fredl IR weat & 39T e
aeft weat & 3w @A T

1. (a) The unit labour requirements of the production of cotton are 2 and 3 and for wheat is 4

and 5 for Lincolnland and Smithland, respectively. Labour in Lincolnland and Smithland
are taken to be 400 and 200 respectively. (i) If labour is the only factor of production and
the tastes and preferences of the consumers in both countries are alike and is captured by
U(C, W)=W*3C'3 find the relative equilibrium price? Discuss as to whether there is
complete specialisation at this relative price? (ii) Assume that the relative equilibrium price
of cotton to wheat in the world economy is 4/5, what amount of wheat would each of the

countries produce?
fRipeie auT fR1udc & fo U & IUTe & U SHTS 4H STIIHAT HH: 2 9UT 3 T
g & fog vun: 4 U1 5 § | Riwide aur Ruyyee & 45 &1 HU=: 400 TUT 500 forar S §

| () Tf 4 IUTE BT Hadd TP HIYF € dUT i1 SN & forg STUHNTET HT1 3 aUT Wig
[T & 9T U(C, W)=W4/5C1/5 GRITSHST AT ] , ATUfee Tqferd siud gra &% ? faa==
o 6 T 39 Anifére st wR gyl faflkrfieor @ 2 (i) 9 % fay srdferawr & surg
9 g & wrifére dgfa $iaa 4/5 § 9 U0 20 gR1 g & fbat wren Sanfia st ?



(b) Ilustrate and explain with the help of diagrams that under the assumption of different
marginal costs, under a monopolistic competition framework there would be winners as

well as losers?

YTP & AgTdT A fIa== v suren sifor & fafis diwia anrta & A=aar &
dfd , TP UHIUBR UfaHRrdT Siem & Sidvid fasiar a1 3w givm 2

. (a) Indus and Sril are part of a customs union; and Bang is not part of it. The customs union
imposes an ad valorem tariff of 50% on bicycles imported from outside the customs union.
Let us assume the cost of production of bicycles in Indus, Sril and Bang are 100$, 90$ and
70$. How will the trade in bicycles change with Bang joining the customs union?

359 YT N TP B GAT- $T RRIT § a1 9171 30T R 81 § | FeH g ey
g & 9T8R | AaTfad &1 718 A13fdhd UR 50% &1 Yeuaitd & ot ¢ | 9 fs g8,
sfier Ut 9 A ATSfha BT IdUTeH AR 100$,90$ YT 70$ & | ey A | Fi1 Bt
Sie & H1Y ATgfepd & IR § A gfad= gnm |

(b) The economy of Wildwest produces both cotton and wheat. It provides for an export
subsidy on cotton. Using a Standard Trade Model, assess the implications of the same on
relative prices.

fasaw o srdogawut HuTH auT g Ft ST FRdl € | I8 U W FHafa & fog ge it
T | UTHTIT SATUR AiSH BT IUUNT Hd gU , ATifée Fial W I & fAfgard geaifea
Fiford |

(c) For the production of one unit of cloth 1.5 units of yarn is required. The unit prices of
cloth and yarn without tariffs are 200 and 100 respectively. Following persistent pressures
on the government, the clothmakers were successful in getting a 10% tariff on the cloth
imports. What is the effective rate of protection of the cloth industry? How does the
effective rate of protection change when over the tariff on cloth, the government decides
on a tariff of 10% on yarn too?

PUST & Th IPIS & I & [T 1.5 IPHIS T B ATIARAT & | UReP & 31 HUST
TYT AT P FHTS B I HHRT: 200 TUT 100 § | WPR W FAufifad amar gama & arace
, PUST IUTGH HUST 3ATATd W 10% UR[eP U H I6hd I8 4 | UST SUNT & I &
YHTIYU! g3 T § ? TRV BT YHTFAd o3 9 ufkafdd i oiF HUST UR UR[eH AfUd g

SRR I R U 10% T Uewd &1 fFAvig Hed1 8 |



3. (a) In the 1920s, the economy of Bharat witnessed a steep increase in the relative price of
agricultural goods against cloth. Assuming that agricultural goods are produced using
labour and land; and, cloth using capital and labour; assess the income distribution
implications of the same with help of diagrams. Assume that labour is freely mobile across

sectors.

1920s ¥ , YRA B rfuawyT HUST & H1ad HIY aegsi & Arifée Siaal d§ TP dieor
gfS &1 warfora farar wan | | b Y avg, YT 9T 49 &1 ST HRd §U UG HUST, Ueit
TUT 4T BT IUGNT X4 ¢ AT Bl 8 ATP BT IUUNT & HIY JTHH & g
3y faazur fAfgard geuifea SR | ar fF 99 I & SieR w@add U A
Tfa=ia @ |

(b) The economy of Pearsonland produces two goods shirts (S) and pens (P) with factors
of production labour (L) and capital (K). S is labour-intensive in comparison to P. Explain
with algebra, as to what would be the impact of an increase in the supply of labour on the

composition of output of the economy, assuming that the relative factor and commodity

prices remain the same.

YTdie B srfeaawT 9 (L) a1 USh(K) SWIGH & $RS & A1 g g HHIS (S) U7 99
(P) ST € 1 S ,P Ft Ja-T & 97 7151 § | TIedTaT & A1 fad=a= 3 o srdfarawin & Saare
& TART R 948 & gff § gf &1 vuma w1 g, |4 foh arifée |nes auT avg diud (R
g

4. (a) In India, why do you think there is a significant agglomeration of IT firms in Bengaluru
(Bangalore)? Explain in the context of concept of industrial districts.
YR ®, 37 T4 Trad & fr FaR & T v &1 ggayul 9yg 8 ? e forar & sruron
& HeW # fadaa a1 |
(b) Suppose the indices of intra-industry trade for two industries of a country, inorganic
chemicals and footwear, are 0.97 and 0.10 respectively. Interpret the same.
T {5 T &1 & ) SYANN S(PTaf-1 THTA qUT o & e SaR-Ie i & Jadis HH:
0.97 94T 0.10 & | SHF & fore TN FIo |



(c) Following a permanent monetary expansion, discuss as to why there is an overshooting

of the exchange rate over its long-run equilibrium value with the help of a DD-AA diagram.
R Hifged faaR $T SR #3d g, fadwa H3 & &l DD-AA % & Jeraar A 39
Srderelq Igaq Yed & SR A &1 o2 d8a 9 Rea wanr g |

. (a) Under a Bretton Woods type fixed exchange rate regime, the economy of Solovia is
currently under both internal and external balance. Some of the larger economies in the
world are under a spell of deflation. To what zone of discomfort does Solovia move to?
How can it get back to simultaneous equilibrium in internal and external balance? Discuss
with a diagram.

(b) The economy of Argentum is witnessing a sudden deterioration in the current account,
but its government in co-operation with the Central Bank tries to defend the peg of its
currency, argent to dollar (a/$) at 20 a/$. The market speculates that the peg is unsustainable
and the rate would crash to 25 a/$. Discuss the trajectory of interest rates, money supply,

forex reserves and exchange rate in its path to final devaluation with the help of a diagram.

5. (a) BT Y ardegaryn, e g0 PR RAfawy T veafa & aga, adame
# HaR® R aEd Sl dgaa A ¥ freg A Fo @t srdeyarae sqehifa
gk ¥ R W § AR smRw F FE a9 F 3 @ & T
Irfegaer Al AR T AgeT H T WY W F T F bl 87
TF NG F W 9T F

(b) 3STEH IrefcaaedT & 1o @Y H =S PREe & o1 @ § AT WER
oo dF & AT WEAr ¥ Il FqaT Irefe (a) A STe} (o/S) F W 20 a/s H
F T T @ F P FI@ 8, $ 81 TR AT domar g F g
IR ¥ AR 77 & 25 o8 el 3T #r Age & ifaH aHEEs & wRA A
sqTeT &, et Jrqfet, RAef a7em sizw sk Rfawy T F waiveE w =t W



6. (a) The sterilised sales of foreign assets need not result in the exchange rate remaining
intact always. Explain the condition under which the exchange rate changes with the help
of a diagram?

(b) The open economy of Hamlet is in a liquidity trap. With the help of a DD-AA diagram
explain as to why a temporary increase in monetary policy would not work towards
increasing the level of its output? What steps could help the economy increase the level of

output under these circumstances?

(a) el aRTgfeAT i Astelwa o & aRumFTawT RfAAT T g TR
AT Tl ¥ IN@ H WA F I7 FUfy Taw Gwd ded Raww @ A
aRader gxar &2

(b) gFeIT HT Gelt Irdfegaeyr oF alaar e H ¢ H-vT ING H A ¥
Fase fF Altw AifT & e gefer swF scueeT F TR A oW i fREr
A FH FAT AT HN0 37 IREITAAT F rdfeqaedqr & 3cued F T Y g8+
# FI & FgHA Aqg I T §?



SETB

Name of the course: B.A. (Hons) Economics (DSE)

Scheme/Mode of examination: CBCS Semester V

Name of the paper: Political Economy |

UPC/Subject Code: 12277505

Time: 3 hours Maximum Marks: 75

Instructions for Candidates

1. Answer any 4 questions.
2. All questions carry equal marks.

3. Answers may be written either in English or in Hindi, but the same medium should be used
throughout the paper.

wanfiat & faw fader

1. TFegl IR 94T & 3R SIfo|

2. g gt & 37 THE &

3. ueal & IR BT 3ryar el AryH # Ay, Weq @l ueal &1 3R U &
ATegH A g @ifd

1. Analyse how the social relations of production from being “forms of development of the
productive forces” turn into their “fetters”.

3cUlesT & ATl Y g Y "IcUicer AFadl & G & 4" O 3! ar
"SST" o ST &1 faewor Y |

2. What is meant by “negative form of power” and what is its relevance to the functioning of the
capitalist system? Explain how the successful completion of the circuit of capital (M-C-M")
ensures the organisation and disciplining of social activities.

“AfFT & APRIcHS T F AT ACIY § TUT YlaEl SaedT & foharreld & faw
SHT AT GIETARar §? Yol dfdhe (M-C-M') &l Hbel FATA o YR HIHATSIS
TATATEET & HaToeT Ud 3] i FlATRYA Il §? AT Y

3. Why did Schumpeter characterise competition under capitalism as the ‘perennial gale of creative
destruction’? Explain. Discuss his critique of the neoclassical approach in this context
particularly elaborating on his views on “perfect competition” and its efficiency claims.



FHIER & JollaTg & 3 Gfaeaet F ThAcAS AT - Fadifes S &
ﬁw’rﬁrﬁﬁm%?m FL| ZH T H 3AH Ag-Follidehd giochloT &
g W fOEdR @ =el &l AR "ol 9idfadr ua 38 gt & gt & aR #
3o7h faORT & AT T & FA0 |

4. What did Michel Kalecki mean by “political opposition” to full employment by big industrial
and financial capitalists? Elaborate on various reasons for such opposition. Why was such
opposition absent in the fascist regime in Germany?
fAder Fafs @1 93 i@ aur iy Ghufaat garr qof e & "o
farer mwm&wﬂ@ﬁﬂaé:ﬁ@mwﬁwﬁwﬁﬁl BIEETET STHAT
H e {0y w4 a8 an

5. “Capital calls the tune by which the state normally dances but takes for granted that the state will
provide the theatre within which the performance takes place.” (Robert Heilbroner). Discuss the
quote.

"qﬁm%aﬁﬁ%ﬁﬂwwmmﬁmq A &, e Tg A
& T Uod AT e BT Tor ek vede gelr 1" CER 6c4§l\lo-|<)| TaT |

6. Write a detailed note on any one of the following:
a) The role of “primitive accumulation” and “accumulation by dispossession” in the
evolutionary and contemporary phases of capitalism.
b) Underconsumption Crisis
c) The consequences of globalization for the Third World.
d) Paul Baran’s classical conditions of growth in the competitive and monopoly phase of
capitalism.

fAefaf@d & @ fhdl v T T faEga ool for:

a) Yailare & fepraardl vd Al TRl # "Aifelss TOg" dUT "de@ell gan
T A

b) 37TCY-3UHNT Hehe

c) e gfaam 9 dedieRtor & aRomA|

d) Yolarg & Gieqdl Td TR XUl # Ui dReT SRl Jefer i Foridenel
eafaar




Unique Paper Code : 12037504

Name of the Course : B.A.(Hons)

Name of the Paper 19th Century European Realism

Semester : Vi

Duration : 3+1 (one hour reserved for downloading of question paper,

scanning and uploading of answer sheets)

Maximum Marks 75

Attempt any three questions. All the questions carry equal marks (25x3=75)

Each answer is to be written in 750-1000 words

Q1. “Turgenev’s Fathers and Sons presents the clash of ideas between two generations
caught in the wind of change.” Analyse the Pavel Petrovich-Bazarov relationship in this
context.

Q2. “Vautrin’s insights about Paris disturb the moral rubric of French society.” Comment on
the social relevance of Vautrin’s views in Old Goriot.

Q3. “Emma was rediscovering in adultery the platitudes of marriage.” Comment on the
relationship between adultery and marriage in Madame Bovary.

Q4. “Raskolnikov's transformation is not possible within the city of St Petersburg but only in
a distant space like Siberia.” Critically analyse Raskolnikov in the light of this statement.

Q5. Discuss the institution of marriage and its failure to connect with the women as depicted
in any one 19" century novel in your course.

Q6. Analyse, with instances from at least any two of your texts, the importance of the
everyday in the making of a realist fiction in 19th century Europe.



SET-A
Unique Paper Code : 12057505
Name of the Paper : AT ATacT sl Hierd TI@T

Name of the Course: Hindi (Hons.)

Semester — 5

qUT{-75

qHT : 3 He

streeTeh fA<ar

1.3 & g T 0 A= L8 d THAA KT TITEH FHT |
2.3 T H | fhrgl AT ® 30 aA ¢ |

3.9 I 18.75 37 T T |

1. ATHT,HERId 3T AT & Araea e &l T HioT |

2 AT GTiecd T GeheadT TdTd g0 AT dTfged &
TATHTIE T9&T FT a9+ Hlo |

3. Tl 9IT%hd Ud TG ATgcd T TR=T ad g0 TRTET il
=T FT |
4. AT I TS T Gt dTiged 7 =g S |

5. AT HTTecd # Wik Td TaSTHIL0T SATea il i AT FT
SeE AT |




6. TTTAL AT Fligcd T o F (e |
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%I : Hindi ( Hons) SetB
gl 9 IS : 12057502
MSeh : [Recl HIST HT ATAGIRS AT
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1. 3cc &4 & qd Ul I Il e @ A Sl JATH H|
2. B Ie&AT H T fohegl IR &l & 3ca} Gl
3. Ucdd YT 18.75 3k &I g

.wmwﬁqﬁwaﬁ@mmzm Tose Hifaw |
.W@rqﬁwaﬁ?%ﬁmﬁwaﬂwml
. HiGPRY 2reg (3eY) Hr ®T @1 faf@u |

3T & YR G I & A TASE hifaT |

. 3T 3R faAwor fr gRemwr 3k 39 de Ffgr |

. T I H feafd o HIAT 9T Yhrer Siielv]|



Your ROIINO....cieeeieiee e
Paper Unique Code: 12317512
Paper Title: HISTORY OF MODERN CHINA (1840-1960)
B. A. (Hons.) History (NC), CBCS (DSE)

Semester V
Time: 3 Hours Maximum Marks: 75
qHT: 3 6 quTie: 75

(Write your Roll No. on the top immediately on receipt of the question paper)

(7= % THera g1 U &7 10 Mg iia w0 9% soET s o)

Note: Answers may be written either in English or in Hindi; but the same medium should be
used throughout the paper.

froqft: =8 w1 3 SRS AT R Rl ue st ® diforo; SR |t 3 T Areaw

€ g R

Students must attempt three questions.
All questions carry equal marks.

T dle w1 & I AT AT 2
aft w7 F 3 qHIA Bl



. Discuss the debate on Great Divergence in the context of China highlighting

the views of California School.
Pt & T A Ag AT dg@ W HARAI et F AT W YhRI Sl §F dIg
faare &1 faaas fifad|

. “The crisis of the Opium wars began in 1840 merely in terms of Chinese

stagnation and western dynamism”. Do you agree?

“IRIHE Feut T Fhe 1840 H AE Al ARIY AR Ty A F FEY H IREH
B3I & AT Y TgAd 87

. Critically evaluate the main currents within the Taiping and Boxer
movements with special reference to their popular character.

3T oliehiog TR & AW @eey 7 arsfiier 3R afereR Tl & ek F&T YRS

HTeATIeATCHS Hediehel I |

. “The May Fourth Movement inaugurated a new age in the Chinese society”.
Comment.

“OR A & 3aleld o dell FATS F Ueh AT FaT &l FAUA fohar| feoqolr Ao |

. Trace the different stages of the peasant struggle in China from 1928 to
1949.

1928 & 1949 T it & Fueh Hu¥ & fAfFeer oM i FTR@T FE&Jd Hifo|

. Analyse the causes and impact of the Great Leap Forward in China.

AT H el ST & SRUN T AT T faeevor Hifed|




Your ROIINO ..o

UniquePaper Code : 12317514
Paper Title: Global Environmental Perspectives (NC)

Semester V:

CBCS-LOCEF: DSE XI

Time: 3 Hours Maximum Marks: 75
AT ;3 "UC quiieR: 75

Instructions for Candidates

Answers may be written either in English of Hindi; but the same medium should be
used throughout the paper

Attempt any three questions in all
All questions carry equal marks

. Define the term Anthropocene. Elaborate the significance of the concept ‘Age of
Humanity’ in revising the anthropocentric history.

T eleg I IRANT | AaRied sfaga FI GNfa = & o
3T EFATAEY eFATAE & JIr HTUROT & Hged T == .

. How did the use of animals as a major source of energy for production and
transportation contributed in shaping the pre-industrial societies and economies?

3cutes 3R IRageT & T 39T & 9@ id & §9 & AR & 39T o
qa-3lea e FaATSl 3N Irdegaeansit & F&aR9 @ H8 wHfad fear §?

. Explain the significance of the concept ‘Ecological Imperialism’.

qikFYfas AHETSIAE & Agcd &l GASIST |

. How did the colonial interventions transform the livelihood patterns of the indigenous
societies? Explain with the help of any one of the following contexts: a) Nomadic
Pastoralism b) Forest resources and the tribes, c) fishers and the hydraulic resources

stafaafie grasia o S GaATSr AT JTSider & deed HF A deo feam
fefai@d desif & & forelt veh 1 Feg & FHSV: a) GA IR[MTH, b) Tl
AT 3R ST, o) AT 3R STl HHerT




5. The insatiable appetite of Industrial societies has produced new inequalities. Examine
with the help of any ONE of the following case studies: a) Natural Rubber production
in Tropical countries, b) Whale hunting

3R FATSH HT e STOBN/HY o 75 HAAGTNIA H e & gl
frafaf@d gt & & forelt v & Age & FHASV: 2) IUTRfcaei gof &

Tehfcieh I§ T 3cUleet, b) gl &l fABR

6. Discuss the significance of the term Ecofeminism to understand the link between
gender and environmental change.

AT e 3R TaRoT IREd & ST T FE T FHS & AT A
qIiREATIHr (Ecofeminism) & Hged U Tl HY




Set-B
UPC: 11017502
Name of the course: (CBCS) B.A. (Hons.) Journalism
Name of the paper:  Media Industry Management -1
Semester: \Y
Marks: 75

Time limit: 3+1 (one hour reserved for downloading of question paper, scanning and
uploading of answer sheets)

Instructions for candidates
Attempt any three questions.
All questions carry equal marks.
Answers to be written in 750-1000 words
Write your University roll no.,name of course & Title of the paper on your answer sheet.
Sign at the bottom of each page of your answer sheet.

Q1. What do you understand by strategic management? Which are the most preferred
media management practices adopted by media organizations?

Q2. Discuss the difference between classical and modern school of management.

Q3. What are the different market forces that affect the functioning of media
organizations?

Q4. Describe the process of budgeting in a media organization.

Q5. Discuss the role and functions of advertising and circulation department of a
newspaper organization.

Q6. Discuss the management strategies of Rupert Murdoch with respect to News Corp.



UPC : 12107507
NAME OF THE PAPER : PHILOSOPHY OF LAW

COURSE : B AHONS. PHILOSOPHY
SEMESTER © 5

TIME : 3HRS.

MAX. MARKS. A

Instructions for Candidates

Answers may be written either in English or in Hindi, but the same
medium should be used throughout the paper.

IR 3iveh a1 iEdY ¥ fora o gahd 8, Afh ¥ UwR # us g1 ureay &1
IUaRT fbar ST Tnfge|

D3 IR UY Do
T ugi & i T o
Attempt any four questions,

All questions carry equal marks.

1. Is there a necessary connection between Natural Law and Positive
Law? Discuss with reference to Thomas Aquinas.

T MBI B 3R AHRIAD BT & d1d U HTIRID Gael g2 Uy
g & oo H =i Hi?

2. Elaborate the difference between Civil Law and Common Law.
T ST SR 3 S & a1 3R B fawgd B

3. Explain the nature of Voluntarist theories?
"gegeTiee Rigidi &t Uepfa i e dY

4. Explain with relevant examples the nature of Mens Rea?

U ISTERUN o WY THE {6 U Rea T U §




5. Discuss the Theories of Punishment.

ol o Rrgidl TR ==l B3

6. Elaborate Dworkin’s Method of Interpretation.

Safc &1 ARSAT BT ARIPT [akd faaRor



This question paper contains 2 printed pages

RollNo. ...t
Name of the Course : B.A. (Hons.) Philosophy
Semester : \
Name of the Paper : Philosophy of Science
Unique Paper Code : 12107503
Duration : 3 Hours
Maximum Marks : 75

Instruction for Candidates

Write your Roll No. on the top immediately on receipt of this question paper

Answers may be written either in English or in Hindi, but the same medium should be used
throughout the paper.

39 UY UF D IR SiUel a1 it fddt we v | o, dfed ot IWwi &1 wiewm
U& g g =iy |

Attempt any Four questions. All questions carry equal marks.

gl IR uef & I e | @t & sie THE § |

1. Discuss Harman’s theory of ‘Inference to the Best Explanation’.

TR & aqH ARG HJHAH & Rigrd &I fada T sy |

2. How does Hume explain the problem of Induction? Discuss.

W 7 59 USR A & IHWT & IRSAT Bt 87 fada B |

3. What is the ‘Problem of Demarcation’ according to Popper? What solution does he

suggest for it? Discuss.

TR & TR FHRET & TGN F1 8?2 98 39S F1 U YAdd R 82

4. Explain Kuhn’s account of change and progress in science.

fogm o ufkadd a1 wfd R $8d & A B ARAT HifoY |

5. Discuss Lakatos’ theory of Scientific Research Programme.

ADICY & Aq-G ATHYH PRHH Rigra &t fJae I |

6. Why does Feyerabend want to defend society against science? Discuss.



BIRee Ia & fagH ¥ H&f g9 Igd 87 fad=m s |



SET-2

UNIQUE PAPER CODE 12107508

SEMESTER : \

NAME OF PAPER : PHILOSOPHY OF MIND (DSE)
NAME OF THE COURSE B.A. (HONS.) PHILOSOPHY CBCS
Duration : 3 Hours

Maximum Marks : 75

Instruction for Candidates

Answers may be written either in English or in Hindi, but the same medium should be used
throughout the paper.

3 IS A1 BE A oW ST Feohd &, ofehed QU U # Teh & ATLIH T 39T
ERiRcIGIEEIY

Answer any four questions. All questions carry equal marks.

gl IR geat & 3 & | Gl ueal & HAT 3HF § |

1. How does Descartes characterise the nature of the human mind in his Meditations,
and in what way it is different from the body?

ASCATH A SHHIEH AlTd HeA T Fhfl o1 gafferr §, 3 75 Fa e @
R & 3elaT 87

2. What is a category mistake? Is Descartes guilty of having committed it?
FCIRT [FacH FATE? FIT STRICH &l 5H el & folv GINT HAAT ST
HehdT g7

3. Discuss the arguments in favour of J.J.C Smart’s position that brain states and mental

states are identical in the same way that the morning star is identical with the evening
star?



S FAE HT AR & ga7 & dhf W T A & AfTsH & Fufa 3k
A Efd 38 g 311 & S fob Goig T oRT ATH o ART § 3o 7

. How does Putnam show that pain is not a physico-chemical state of the brain? What
type of state is pain according to Putnam? Discuss.

oA 4 @ § F a¢ Afeass & sifaw-rafas fufa 78 &2 qean
% AR e¢ fohe R @ [Eufa g2 ==l Al

. Explain Jackson’s knowledge argument with examples. State how it is different from
the Modal argument and the “What Is It Like To Be” argument?

3CTEI0T & HTY AT deh T SITEIT Y| T TdTU foh Ig AST doh 3R ‘cgle 31
$C WIS T A’ & oo A 4 39T 82

. Are physicalist descriptions of mental states adequate in explaining
consciousness? Discuss.

FIT AT T FHSTA H ATATRS ITEAT3T T FifAhards guie gated g2 ==t
|
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Note: Answers may be written either in English or Hindi but the same medium should be followed
throughout the paper.

3 33T 3ryar RRedr e v o 7 fo S wehd § W Il IR 1 ArewH
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Attempt Any Four questions.
All gquestions carry equal marks.

fhegl TR Qs & 3R SIfav|
gt vl & 3/ AT &l

1. Critically evaluate India’s position in contemporary global power politics.
FAAARIS df¥aeh AT Tofeliicd H AR Y AR H HToldsllcHs HodThe
HIT|

2. Compare the present state of India’s relations with US and Russia.

3ARHT Td &F & WY HRA & TAA Tl S Jola S|



. ldentify the persistent points of frictions between India and China at present.
A H AR T el & ALY THT & T deg3il HT ugare S|

Illegal migration in South Asia is emerging as a major source of irritation between
India and its South Asian neighbours. Discuss.

R T SHF G0 RIS St & @ gfdior ol F 3Ry vawd uE
Hecaqul Saoiell & G & &9 & 39 @7 &| Tl o]

. Discuss the India’s strategy for protecting its trade interest in World Trade
Organization (WTO).

farg saR Gersd (3seyg, &1 3) A sgiRes f@dl H W@ & O #aRa @i
AT ) T Hifo

Do you think that India can be a great power in a contemporary multi-polar world?
Give appropriate examples in support of your answer.
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o Tl UY M 3 & T
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1. Distinguish between Human Resource Management and Human Resource
Development. Using illustrative examples, discuss the key challenges that impact
Human Resource Management, especially in the present times.

HAT G et 3R AT Ha1eH 9o o oite 3tk S| ISTeRU BT IUANT HId
U, faRIY U § w97 H A G4 e Bl T SR arell T gHiadl i)
T B | (18.75)



Describe the various steps in the selection process. “Untrained interviewers can make
mistakes that are very costly to the organization.” Discuss errors in the selection that
interviewers make and how to avoid them.

<o Uforar # fafir TRoT 1 quia &3 | " SUiRfe empRad! 3 Tafad! B &R Fahd
& Sl T1eH & for sgd weht 8 | 9g B Ffedl R Taf B ot Wem Rl s § iR
I HY 1| (18.75)

Bring out the differences between HRM and IHRM. Highlighting on Hofstede’s
dimensions of  cross-cultural differences, briefly discuss the significance of his work
to processes of Selection, Training and Performance Appraisal in the context of IHRM.

TISRUY 3R METISRUH HANG] BT IOR B 3R YA A | G-I iad SR &
TIPS & STATH! TR YHTRT STefd T, IHRM & S & 90, TiRI&n 3R HexH Jedidd
&I gforarsfi & dRid! & Hed IR gl B | (18.75)

. What are the key characteristics of Organizational Development? Discuss the
significance of Organizational Development efforts in contemporary times, with
reference to any one technique of Organizational Development.

TSI b o1 TR fa=vdTd o1 82 THSIEH JHd & TeH H Te-Ters fas
AT & A UR Il s 3R Bl T ddhridh BT Seeid B | (18.75)

. What is the significance of conducting Performance Appraisals? In your opinion, will
remote performance assessments be less prone to errors? Answer with reference to
errors that may affect performance appraisals and suggest suitable ways to deal with
these.

e eI ST B BT 1 Hed 572 SUD! I H, 77 g UGRH Mha |
S Tafadl gt Zfeat & g & IR ¢ Sl UG e &I gHIfad #x Adhd g 3R
9 e & fore Iuged adies g 9hd ] 1 (18.75)

What are the driving factors for globalization? “Globalization has led us to believe that

workers are interchangeable between countries so long as the language issues are
resolved.” Critically evaluate the statement in the light of best practices for successful
expatriation.
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Note:

1. Answers should be written in Sanskrit or in Hindi or in English but the same
medium should be used throughout the paper.

2. There are total 6 questions in this question paper. Attempt any 4 questions. Each
question contains equal marks.

1. AR il geaea i€ T T UAgTas qod Hioy |
Write the history of Dhanvantri tradition of Ayurveda.
2. AR & ATH BT HT 09 11T |
Describe Tridosha according to Ayurveda
3. AWHg Ud HTge 9 feequft forfem |
Write short notes on Vagbhatta and Madhava.
4. THT TAT MG B H T-AT2T AT [EHEE FT [Ha= FHToT |
Describe wholesome-unwholesome diets and activities in Fall Winter and Autumn

seasons.

5. AT o ATATT TNT G0 6 31 AT & FU iTorT |

Describe the eight ways to diagnose illness according to Ayurveda .

6. TRIOIIATE sl FR[EeAT & TIH S ATl w7 1L o |

Write a summary of the first three paragraphs of Bhriguvalli of Taittiriyopanishad.
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1. Answers should be written in Sanskrit or in Hindi or in English but the same medium
should be used throughout the paper.

2. There are total 6 questions in this question paper. Attempt any 4 questions. Each
question contains equal marks.

e ® 7 gl 9K 9 ey forfae

Write an essay on any Four of the following.

1. TEHAT TS AT TTerehT
Anviksiki and art of Debate

2. A
The Expedience of Debate

3. AT T THE A=A |

Key terms Inference

4. 39T

Demonstration of Imposition

5. A
Quibble

6. AT F THT

Kinds of Dialogue
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Instructions for Candidates:

1.

Write your Roll No. on the top immediately on receipt of this question paper.
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Answer any three questions.

freal T & I <ol

Answer may be written either in English or in Hindi but the same medium should be used
throughout the paper.

TH I HT I SAUSH AT (Gl et U ATHT § S0 oA Tohed AT I T ATEAH TF ol
2T AT

All questions carry equal marks.
aft w7 F 3 qHI Bl
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1. Examine the sociological understanding of work in the light of scientific management
theory.

1. =TTt yag Rgia F T 7§ F19 FT THISTOTET T FT T FY

2. Critically examine the view that information technology has produced a new kind of society.

. SATATAATHS GI8 F LG Toh FAT TAAT TSR] F U 7T TG o THIS T HH07 /AT 52

N

3. Write an essay on the gendering of the modern workspace.
3. YT FTAAT o AR 9T U Haer ford,

4. Outline the important aspects of unpaid work across different domains.

4. |7 % fAfsrer &= § w1 Aaqiad Frd & Hgca ol Tgsh i Taitend He,
5. Write an account of the Indian informal sector with a suitable example.

5. ITIH IITGLIT o AT AT AATTATIE & I U g o,

6.Discuss the concerns of disaster and risk in modern industry.

6.3 I2ART H AT ST STTEH & T T T41 H2,
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2. Answer any three questions.
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3. Answer may be written either in English or in Hindi but the same medium should be
used throughout the paper.
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4. All questions carry equal marks.
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1. Describe briefly the process of theorisation on the emergence of the city.
RIEX & 354 T TishaT & AT T G&IT 7 quieT Y|

2. Discuss Louis Wirth’s theory of urbanism as a way of life.
I3H aY o ARI0T & TAGTe T Frdrmrem Hiforr|

3. What are the dominant forces that cohere to constitute the political economy of the city?
MG T TToTatlTcTeh 3TTCHEET T ST el ATel THE clTehel T 82

4. With the help of examples, examine the various dimensions of migration in India.

3ETEY0N &l TEIdT & ARG & 9a1d & [affeeT 3mamAf i g |

5. How do caste and gender impinge upon life in the city? Give suitable illustration.

MY A Siaet q¥ 1l 3R Folar @ genfard anea 82 3ugerd 3areor ffav|

6. Discuss how urban night life highlights unequal access to leisure time spaces in the city.

aﬁﬁﬁ:amﬁm%maxmqwmﬁwmﬁqgaaﬁéﬁm
AT 8 |
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Name of the Course B.A. (Hons.) Philosophy (CBCYS)
Semester .V

Name of the Paper Indian Materlism (DSE)
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Total Marks: 75

Maximum Duration: 3 Hours

Attempt any 4 Questions in all.

1.

Discuss Ancient Indian Materialism and its Sources.

gl HRART difdsarg 3R ga& Aat & aofa HfS.

Explain in detail the different aspects of Lokayata Philosophy.

APId R & AR 3T Hr TrEar #:1.

What are the arguments pointed out by Jihannnes Quack concerning Atheism in
India?

HRA H ATEdHRdIG & IR Hgad a1 & @Rl U 1T depl &1 ik &l
What are the characteristic features of Indian Materialism? Discuss.

AT MifQsrare & [AT 101 F=ar 2 goia Hife.

How does Peter Thomson point out the arguments concerning Marxism? Give a
detail account.

T NHAAT T e AERIarET [aart & $aid aXd §? f[aedR qde 3eo™
.

Discuss Periyar’s materialistic outlook. How does his philosophy shape his Self

Respect Movement?

IRIR & Hifdae 1 3ea@ F. Tg 3T 3cH -TFATT el Al g TR
feem &<fr 82
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